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Section A: (30 x 2marks = 60marks) .

For each question from 1 to 30, four options are given. One of them is the correct
answer. Make your choice (1, 2, 3 or 4). Shade the correctoval (1, 2,-3 or 4) on
the Optical Answer Sheet.

1.

Which of thee following are parts of the respiratory system?

A
B
C

(1)
(2)
(3)
(4)

Nose
Lungs
Wind pipe

A and B only
A and C only
B and C only

-A, B and C-only

A tank containing some aquatic plants is placed outdoors on a sunny day.

s

ldentify the factors that will affect, directly or indirectly, the amount of
oxygen in the water. :

4

The intensity of light in the water.

- The amount of piants in the tank, °
‘The material used for making the tank.

The amount of car_bon dioxide in the water.

Aand C only

8 and D only
A, B and D only
A B,CandD




The diagram below shows .a food web in a certain habitat. Study the food web
carefully and-answer questions 3 and 4.

3. How many.animals in this habitat are both a prey-and a predator?
(1) 5
(2 2
3) 3
4y 4

4. A disease wiped out the whole population of R. Which one of the following
statements about the effects on the populations of other organisms in this
habitat is incorrect? ‘

(1)  The population of Q will increase.
(2)  The population of T will increase.
(3)  The population of S will not be affected.
- (4)  The population of P will decrease the fastest.

5. Whtch of the fqitowing isfare a cause of-acid rain?

A CFCs released from refrigerators

‘B - Dust parlicles released from factories

C - Afarmer spraying insecticides on his crops.

D Gases produced from power stations using coal.

(1) A only

~{2) D only

{3). A, CandD only
4 A B CandD

o s,



The water cycle on Earth can take place repeatedfy because water

oOoOm>

(1
(2)
3
@

The diagram below shows a diver carrying an oxygen tank and wearing a

freezes at 0°C and boils at 100°C.
has volume and is not compressible.
is essential for the survival of living things.

can change from one state to another when it gains or loses heat.

A only

D only

A, C and D only
A B CandD

pair of rubber flippers.

Which one of the following structural adaptations and breathing methods
are most similar to the rubber flippers and oxygen tank respectively?.

(1)

2

3
)

Rubber flippers Oxyg.en"l‘ank .
- Long legs At bubblé
I—“:ng -Brgathing.tube
- Tail Breathing tube
Webbed foet AT bubble




We breathe in and breathe out air ali the time. Which of the following
describe what happens when we breathe?

Breathing in | Breathing out

A Ribcége,moves outwards Ribcage moves inwards

Space in our chest becomes | Space in our chest becomes

larger smaller
C Air rushes into the lungs Air moves out of the lungs
(1) Conly
(2) AandB only
(3) BandConly
A, BandC

)

The diagrafn below shows a sea dragon. [t is an animal that looks like a
plant.

What characteristics of the sea dragon do scientists observe before itis

classified as an animal and not a plant?

A

. B
o
.- D

@
3)
@)

LI

The way it takes in water.
The ability to grow bigger.
The ability to make its own food.
~ The ability to move by itself from place to place.

A and B only

-.C and D only

B, Cand D only
A, B, CandD




10.

1.

Which one of the following adaptations does not heip plants to obtain more
sunlight for photosynthesis?

(1)  Presence of twining stems to climb up support.

(2) Amangement of leaves that reduces overlapping.

3y  Presence of stomata on the underside of the leaves.

{4)  Presence of air spaces in between cells in the stem of a totally
submerged aquatic plant to remain upright in water.

John threw a ball upwards.

Which of the following statement(s) about the activity isfare true?

A There is no force acting on the ball when it reaches the highest
point.

B The gravitational force of the Earth causes the ball to change its
mass.

C The gravitational force of the Earth causes the ball to chiange its
direction of movement.

D . - Whenthe baltis moving upwards, the grawtational force of the

" Earth does not act on it.

‘ ) Aonly

{2) C only
(3) AandDonly
4 BandConly

o sy



12.

13.

Tommy pulled the rubber band of a catapult and shot a pebble into the air.

Catapult

What can be done so that the pebble can travel a longer distance?

A Use a pebble of greater mass.
B Pul the rubber band to a greater length. .
C Use a more elastic rubber band and stretch it to the same fength.

{1) Conly

(2) AandBonly
(3) BandConly
{4) A, Band-C

Many birds find beeties very tasty but they'don't like to eat ladybugs.
Beetle X is usually bright gold. However, it can change 16 a dull orange-
brown with dark spots.

dark spots

duli orange-brown

Beetle X : Ladybug

Based on the information above, how does the behaviour of the Beetle X
help it to survive better?

(1)  The spots on its body help it to frighten away its predators.

(2) lts predators may think that it is a ladybug and will not eat it.

{3) It can hide among other ladybugs and will not be spotted by its
predators.

{4)  The colour change helps it camouflage with its surroundings and not
‘be seen by its predators. -



14.

156.

Jon collected the same amount of pond water from ponds, X, Y and Z. The
water collected is poured into 3 separate tanks. Forty guppies were added
into each of the tanks. The number of live guppies in the fanks were
counted over five days. The graph below shows the resulfs.

Number of
live guppies

' : it —— Day
0 1 2 3 4 5
What can you conclude from.the information gathered?

A Water from Pond X is the most poliuted.

B Water from Pond Z is the least suitable for the guppies.

C Water from Pond Y has the greatest amount of bacteria in it.

D Water from Pond Y has more food producers than that of Pond X_

(1) Bonly

(2) D only

(3} AandC oniy
(4) BandConly

What are the benefits of the development of Science and Technology as a
result of Man’s interaction with the environment?

A We have food of better quality.
B The Earth becomes warmer due to the increasing greenhiouse effect.
C ' We can commuynicate with peopie over long distances quickly and
. clearly.
D We have man-made materials such as alloys and plastics to meet
our needs. '

{1) AandD only
(2) BandConly-
(3) A, CandD only
4 AB,CandD



16.

Bird P is found in wetland. It feeds on smafl aquatic animals found in shaflow
water. The drawings below show the beaks and féet of some birds,

Beaks of birds

“Which one of the following correctly matches the beak and feet to that of

Bird P?
Beak Feet
(1) A X
(2) A Y
3) B Z
4 C Y .

° 34



17. The diagrams below show the female reproductive system of a human and the
cross-section of a flower.

Where does fertilization take place in the human reproductive system and the
flower respectively?

(1) ParisOandQ
(2) PartsPandQ
(3} ParisPand:-S
(4) PatsNandR

10



18.

19.

A
B

The graph shows the average temperature of the Earth over the years.

Temperature (°C}

/

Time {Years)

Which of the f_o!lowing explain{s) the graph?

c
D

(1)
()
(3)
4

Deforestation )
Cutting down the use of plasfic bags
Building of greenhouses to grow planis
Fumes released from vehicies and factories

Aonly

A and D only
A, B and D only
B, C and D only

Read the following information.

L4

When water gains heat lt changes into water vapour
1 cm® of water forms more than 1 000 cm® of waler vapour but the
amount of particles (matter). in water remains the same.

What can you infer or conclude from the information given above?

A

B
. C
D

(1)
(2)
3

When water loses héat, it changes into'ice.
Water can exist in three interchangeable states.
The mass of water is increased when water changes intd water.

. vapour.

4

The spacing between the parttcles is increased when water
changes into water vapour.

C only
D only
C and D only
A.B,CiandD

]

it




20. .The diagram below shows the blood circulatory system of a human.

heart

small intestine

Which of the statements below are true?

W:  The heart receives blood that is poor.in oxygen only.

X Blood that is rich in oxygen flows from the lungs to the heart,.

Y: Exchange of gases anly takes place between e blood vessels at A
Z

and C. '

Blood in blood vessel B-has a higher oxygen content than blood in
biood vessel D.. T

. (1) XandY only"
(2> WandY only
3) XandZonly
(4)- WandZ only-

L



21

Jane conducted an experiment using bags made of two different materials.
She poured starch mixture into the bags and left them in beakers with
iodine solution. She knew that If iodine solution came into contact with
starch, the iodine solution would change from brown to dark blue.

starch and water
mixture

bag

waler with

iodine solution
Set-up A Setup B

After 1 day, she recorded what she observed in the table below.

Set-up A Set-up B

Starch and water mixture Tumed dark blue Turned dark blue
Water and iodine soi_ution Remained brown Turned dark blue

She related the experiment to what she had learnt about plant cels.

Qmp
L 0
. Vd

S

Which of the following statements best describes the experiment above?

(1)  Both bags can be used to represent part Q of the cell.
(2)  The starch particles can be used to represent part S which controls
the movement of particles. ,
(3)  Thebagin set-up A can be used fo represent part P of the cell while
. the bag in set-up B can be used to represent part Q of the cell.
(4) ..The bagin-set-ip A can be used to represent part Q of the celt
while the bag in set-tip B can be used to represent part P of the cell.

13
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22.  Vanessa set up the following electrical circuits fo find out if materials W, X,
Y and Z were electrical conductors.

W A

—D—®—x Dz
E

iI!F'j\/,\/

YCE Z

8

{R—«h:g
5
g

She recorded her observations in the table below,

Bulb Did the bulb light up?
A Yes
B No
C Yes
D No
E Yes

From the observations, which materials are conductors of electricity or
insulators of electricity?

Conducfors of = ‘Insulators of
electricity electricity
O X W,Y, Z
@ WX Y z
(3) W,z XY
(4) WX Y, 2

14



23. The diagram below shows the stages in the life cycle of a butterfly.

/"\Y
~

€gg

adult

Which one of the following pairs of statements describes what happens at

-Stage X and Y?
Stage X Stage Y
(1) [t eats a lot and grows very fast. it does not eat at ali.
(2) |} it mouits a number of times. It feeds on plant sap.
(3) [ !t breathes through breathing holes. | It moults a number of {imes.
(4) |1t grows bigger. It feeds on plant sap.

L8 s



24,

Mr Tan set up an experiment using two identical strong bar magnets as

shown in the diagram below. Both
each.

Magnets A and B have a weight of 3N

(N stands for'Newtons which is the unit for force.)

M
o
spring balance -—
slring -

S

Magnet B ||

Ll
thin sheet of copper ) ——— retort stand

—_—

Magnet A —.——|N

weighing S

scale ? T ;:l’
-4

Which one of' ihe following sets of readings on the weighing scale abd spring
balance is most likely 10 be the data that

Mr Tan has recorded?

Reading on spring balance Reading on weighing scale
(1) Less than 3N Less than 3N
(2) More than 3N More than 3N
(3) Less than 3N More than 3N
(4) More than 3N Equal to 3N

16




The diagram below shows a container which has a capacity of 3000 cm?>. A
sponge with a volume of 200 cm® was placed into it and 800 cm® of water

was then poured into the container. Another 1000 cm?® of air was pumped
into the container.

plunger

Ei ) container

800 cm®of
water

sponge

What one of the following is most likely to be the final volume of the air in
the container?

(1) 2000 co®
2) 2100cem®
(3 2200cm®
(4) 3000 cm?®

& oy

17




26.

Study the flowchart on classification of animals carefully.

s the body No Is it warm- No
covered with blooded?

scalas?

l Yes l Yes

- lsiteold- Doesitlivéon | Yes

blooded? land?

Yes l No
Does it live in R
water? Yes
———3 §

Which one of the letters represents a whale?

()

(2)
(3)
(4)

P

Q
R
S

° sy,



27.  Sandra poured two liquids, M and N, into a container. Then she put three
different solids, J, K and L, into the container. The diagram below
ilustrates her observation.

What can you conclude from her observation?

A Liquid M is oit and liquid N is water.

B Solid L. will sink if it is put into a beaker filled with fiquid M only.
c Solid J will float if it is put info a beaker filled with liquid N only.
D Solid K will sink if it is put into a beaker filled with liquid M oniy.

(1) Bonly

(2) <CandDonly
(3) B,CandDonly
4 ABCandD

19



28.

Mrs Lee set up an experiment as shown below. She poured an equal
amount of tap water into two basins A and B. Next, she poured an equal
amount of boiling water into a metal cylinder and a ceramic cylinder. Then
she lowered the fwo cylinders into the basins A and B respectively.

Boiling water . Boiling water
Ceramic

cylinder

Metal

cylinder \

- ' Basin with fap
water at room
4 temperature

.

Basin A BasinB

Which one of the following shows the temperatures of water in different

.- parts of the set-ups after 15 minutes?

Temperature of water (°C ) after 15 minutes
Basin A Metal cylinder Basin B Ceramic cylinder
) 35 80 45 70
2 45 75 35 85
(3) 50 45 40 65
GV 50 50 30 30

- 20



Study Object X below carefuly.

Object X

Which of the foliowing shadows cannot be formed by Object X when light
is shone on it?

A ) B

(1) B only

(2) ° AandConly
3) . CandDonly
(4) A, Cand D only

21

L



30.

The diagrams bejow show the fruits of three different types of trees. .

feather-fike
structure
fruit dries up
when it ripens oA
- hook-like
and splits 1OOR-IIRE
open structuse
Tree A Tree B Tree C

The distribution of seedlings of the parent trees are shown below.

A
A A

A
A A

Key:

Wind direction

Parent tree

Seedling

A ,
A A \A
——

Y

zZ -

Which one of the following correctly matches the distribution of seediings and
their parent tree?

(1)
(2)
(3)
(4)

X Y V4
Tree A Tree B Tree C
Tree B Tree A Tree C
Tree C Tree A Tree B
Tree C Tree B Tree A

22
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Section B: (40marks}
Write your answers to question 31 to 44.
The number of marks available is shown in brackets [ ] at the end of each

question or part question’

31.  Joseph set up an experiment to find out the effect of muddy water on the
rate of photosynthesis in aquatic pianis as shown below. The set-ups were

placed under strong sunlight.

sunfight F}
\ . r :::: -
clear — ::::: :_'_::—:“" muddy
water aquatic ol water
™ plant TR
Set-up B

r\
level of water —]—
-~ -
- 2
clear —— %3:31 = I~ muddy
water (o RO S waler
Set-up A
(a) Complete the diagram above by drawing what the level of water in Set-up
B should be. f1]
(b)  Explain your answer in (a). (21
Score .
31

24



32. Jackrabbits are adapted o the condifions of dry grassfands. Dry
grasslands can be both very hot and very cold. In hot weather, the

jackrabbit’s ears stand straight up. in cold weather, the ears lie back close
fo the body. '

How does. the behavipural adaptation help the Jackrabbit to survive the hot.
and cold weather? 2]

Hot weathef:

Cold weather:

Score

25



33.  Chiistie set up an experiment to find out

if duckweeds can grow well in
soapy waler. :

————— duckweeds

Set-up 1 Set-up 2 Set-up 3

The foliowing table shows how the experiment was being set up.

Number of Soap Solution (mf) | - Pond water (mi)
duckweeds
Set-up 1 40 1 500
Set-up 2 N 40 2 500
Set-up 3

{a)  In orderto conducta fair\'i'test. Christie used Set-up 3 as a cefitrol.

Complete the table above for,\Set-up 3. [1]

{b) Besides using the same type of seap solution, .pohd wafer and duckweed,
what is another factor not stated above that should be kept constant in
order for the experiment to be a fair test? 1

{c) What observation should Christie

make in order to éompare how well the
duckweeds grow in each set-up?

{il

e sy

Score

26



34.

The graph below shows the number of earthworms (near the surface of the

soil) and birds in an eco-garden over a period of 12 hours. The earthworm
is the prey of the bird.

No. of anirnals

25 -

-k b n
-3 0 o
1 1 1

&n
d

0+
Tam

Obirds

B} earthworms

1tam

4pm

Tpm

The weather condition of the eco-garden over the simitar period of fime is
shown below.

Weather
8 am 10.30 am | 12.50 pm 3pm 5 pm
Cloudy | Started Stopped Strong | Moderate
raining raining sunlight | sunlight

Based on the infdrmation above, indicate whether the statements are True,

False or Not possible to tell by putting a tick in the appropriate box.

{2l

Statements

True

False

Not
possible
to tell

Earthworm is the bird's only source of food.

| The greatest number of earthworm is found near
" #-the surface of the soil at 12pm.

.| Less earthworms are found near the surface of
T'the soil when the intensity of fight is stronger..

The greater the number of bird, the greater the
number of earthworm found near the surface of
the soil. '

- 27

Score

a8y



35.  The graph below shows how the lengths of different springs in different

30

20

10

(@)

(o)

©

()

devices change when different weights are attached to each spring.

4 Length of spring (cm)

Key:

3

Length of spring
with no weight
attached

Length of spring
with a weight
attached

Spring

Based on information from the. graph, what can you observe about

Spring B?

11

Give a reason for the observation stated in (a)?

Ml

What device is Spring C most likely found in? Explain your answer.

[

Which two springs most likely come from the same type of device? Give .

an example of such a device.

{1

28
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36. Kern pushed a deflated ‘balloon into a plastic bottle and spread the small
open section of the balloon over the mouth of the bottle.

Plastic botile

{a) He tried to blow up the balioon but could only inftate the ‘balloon slightly.
Explain why this is so? [11

(b) What can Kern do to the bottle so that he can blow a bigger balioon in the
bottle? Explain your answer. (2]

Score

9 o0

28



37.  Jolin sat on the swing in the piéy_ground as shown in the picture below.

The graph below shows the changes in energy as Jolin swings from A fo B-
to C and back again to A.

Energy
)

(38)  What does each of the lines on the graph represent? 1]
X:
Y _
(b)  State the energy change from C to A. _ {1}
Scare -
. : 2

30,



38.

(@

(b)

(c)

Many years ago, a scientist camried out an important investigation on plant
growth. He planted 100 plots each of Piot X and Plot Y. Piot X consists of

- one type of plant whereas Plot Y consists of three types of plants as shown

below. The number of plants in each plot is the same.

AAAAAAA ABCABGC
AAAAAA ABCABGC
AAAAAA ABCABC
AAAAAA ABCABGC
AAAAAA ABCABC
AAAAAA ABCABGC
Plot X Plot Y

He concluded from his investigation that:

if é plot -of tand is sowﬁ with one type of plant and a similar plot is sown
with the same type of plant and 2 other types of plants, the second plot will
produce a greater number of heaithier plants. _

Give one other variable that was controlled in the scientist’s investigation
to ensure a fair fest. 1]

Why did the scientist use two hundred plois rather than justtwo? -~ [1]

Give one feason-why several different types Ef plants in a plot produced a

- greater number of healthier plants than a single type of plantin a plot. [1]

- Score

31 -




39.
conduct an experiment.

Mary collected some soil samples from Habitats A and B shown below to

1 gi"i'i
f lj' lgli |

E M
Habitat A ' 13 ]I

Habitat B R

She filled two identical containers with equal amount of soil samples from
habitats A and B. Next, she poured 50 m! of water into each of the beaker
and recorded her observation in a table.

' I et 50ml
. G Sooman
Sail sample ?-.-"W%"’ of
from hab?tatA “EE?“'?%':':-:““”‘“ water Soil sample
SRS from habilat B
SAECA AL ARy A
Observation
, Water_level Presence of bubbles
Soil sample from Habitat A Remained the same No
Soil sample from Habitat B Decreased Yes
(2)  State a reason why bubbles formed on the soil from Habitat B. [1]
(b)  Based on the result of Mary's experiment, give a reason why the roots of the

tree in habitat A. grow upwards above the ground.

(2}




40. A farmer found some pests in his fanm and- decided to use pesticide to kill
the pests. He sprayed pesticide on the pests on a monthly basis over a
period of 5 years. The graph below shows the population of the pest over
the S-year pericd. .

Population
of pest

A

-
e

> Years

{a) From the graph, describe the change in population of the pest over the
5-year period. L 11

(b)  Why did the population of the pest increase after 2 years despite repeated
. sprayings of the pesticide? _ 1

Score

N
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41.

(@)

(b

(©)

The diagram below shows the’ experimental set-up for a process known as
electroplating. When the dirciiit is closed, the copper coin gradually
becomes coated with a layer of pure gold. .

1]

A

——— Electrolyte liquid

Copper __|
_cein

Pure gold block .

What physical property must the electrolyte liquid have-in order for the
experiment to work? M

State one possible way {6 have a thicker coat of pure gold on the surface
of the copper coin. (1]

Tammy wants to coat her plastic coin with a layer of gold using the same

- method above. Will she be able to do it successfully?

Explain your answer. [1]

Score
' 3
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42. Mrs Tan wrapped a piece of white paper tightly around the centre of a rod.
Half of the rod was made of iron and the other half was made of wood. Next,
she heated the paper with a flame. The diagram shows the observation she
made at the end of the experiment.

4—paper—»

This portion of the paper: This portion of the paper
remained wh|te. turned black

(a) The part of the paper which was covering the wood turned biack but not the
part covering the iron. Expiain this observation. i2]

{b) Mrs Ong used a portable barbecue pit to cook her sausage as shown below.

turned black

sausage

- She noticed that the parts of her sausages that were in direct contact with
the metal grilles on the barbecue pit tumed black after cooking. Give a
reason for her observation. {11

Score

LI I




43. The diagram below shows an incomplete food web.

(@ Use the information given to complete the food web above. 1]

W is a carivore. -

Q ts an omnivore.

R feeds on T only.

T is a food producer.

(b} How many food chains are there in the food web? {1}

(€)  If an animal which feeds an organism S only was introduced to this habitat,
which organism will show the greatest change in population? B 3

Score

o e
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Jonathan conducted an experiment in a completely dark room to find out
how well materials A, B and C reflect light. He shone a famp through an
opaque tubre and recorded the amount of light reflected by materiat A using
a light sensor. He then repeated the €xperiment using materals B and C.
one at a time.

Lamp ;

Opaque tube

Light sensor
connected to
1 computer

Material A

The graph below shows the results of Jonathan's experiment.

N

Amount
of light ]
{Lux)

0

Material A Material.B Material C



(@ Give a reason why Jonathan should conduct his experiment in a completely
dark room? ' i1]

(b} An anti;glare computer screen is designed to cut down on the amount of
light that reflects off the monitor screen of a computer. It makes viewing a
dispiay in the computer screen more pleasant for most people, and reduces

eyestrain.
Based on Jonathan’s experiment, which material is most suitable for making
the anti-glare screen of a computer monitor? Explain your choice. 2]

{c) Draw light rays below to show how the computer screen reflects light ffom
the lamp to the toddler's eyes. i1}

é—— tamp

computer
screen

toddier—

END OF PAPER
38




Answer

-~

EXAM PAPER 2012
SCHOOL : NAN HUA'
SUBJECT: PRIMARY 6 SCIENCE
TERM : SA2
M [02[03 [04 ] Q510607 08190 [Qlo]0iilQiz Qi3 [014[015 0161017
4 4 3 3 2 2 4 4 2 3 2 3 2 1 3 1 3
181Q191Q20 [ Q21 Q22 [ 023 [ Q24 [ Q25 [ Q26| Q27 | 028 | Q29 | Q30
2 pA 3 4 2 1 3 2 3 3 2 3 3
31)a)
S 1

e |

=P AR == muddy

MR water

b)The muddy water in set~-up B prevented some sunlight from entering.-
Thus the rate of photosynthesis was lower.

32)Hot weather: The rabbit’s ears stand up right increase exposed surfa:'_c:e s
area of the surrounding air and allowing it to lost heat to the surrounding air.

Cold weather: When the rabbit’'s ears Ile back close to the body, less surface

area of the ears is exposed to.the surrounding air and less body heat is lose.

Page 1to 3 page 1



Answer Key


33)a)40, 0, 500
b)The type of container.

c)At the end of the experiment, count the number of duckweeds still
surviving.

34)Not, Not, True, False

35)a)The length of spring B does not change even with a weight attached.
b)The weight attached is not strong enough to stretch the spring.
c)The device is most likely a kitchen scale. A kitchen scale works on the
principle of measuring the weight an object by the compression of a spring, so

the original length of the spring must be longer than the spring with a means
added.

d)Spring A and D, Spring balance.

36)a)Air occupies space. When Kern bolus into the balloon he only inflate
nalloon slightly because the has been compressed until it cannot be
compressed further.

b)He should make some holes on the surface of the plastic bottle to allow
3ir to escape and let the balloon occupy space.

37)a)X: Kinetic eﬁergy. Y: Gravitational potential energy. .
b)Gravitational potential energy->Kinetic energy- Gravitational potential
:nergy.

38)a)Amount of water given to the planf‘s.

b)To make the results more reliablée and to find the average.

c)Less completion for the same kind of nutrients among plants of different
ypes.

i9)a)The water manage to occupy the space which the air once occupies in soil

ample from habitat B allowing air to escape thus there were air bubbles from
mn the soil. ' .- : ' '

b)There is no air spaces between the soil particles in habitat A, so theroot
jrow out of the soil to obtain oxygen for photosynthesis.

l0)a)The population of pets decreased for the first two yeérs but after the two
‘ears the population staited to increase.
b)The pest had become more resistance to the pesticide.

-1)a)The electrolyte liquid must be a conductor of eIectr.iéity.
b)Use more batteries. :
¢)No, she will not be able to do so. As plastic in an insulator of electricity,

o electricity will flow through the circuit and the electroplating process will
ot occur. " R '
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42)a)Iron is a better conductor of heat and it conducted heat away form the

paper faster than wood. ‘ ‘
b)The grills are made of good conductor of heat and conducted heat from

the flame to the sausage more quickly.

43)a)

“’"‘_"\l/ U

b)6 food chains.
c)Organism Q, because it does not have any predators to prey on them.

44)a)To ensure that the light sensor only measures the light reflected by the
material. x

~ b)Material C. It had the least amount of light being reflected into the light
sensor like the computer cutting down on the amount of light that reflects off
the monitor screen of a computer.

c)

eye computer screen
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